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BlinkIt: Simulation

BlinkIt:
ld= rl6 . blinlk
com rlb

= blink.rlt
b=t rle. 0
rcall Testlt

ret

TestIt:
mov rl6,=pilEDS
zbr rle,0bB10000000
brts done

done:
mov =pilEDS, rl6
rcall WriteDisplay

Figure 1:

ElinkIt:
ld=
Com
=t= bhlinlk.rl6
b=t rl6.0
rzall TestIt

rl6.blink
rle

=

ret

TestIt:
nov rle,=pilEDS
sbr rl6,0b10000000
brt=s done
cbr rl6,0bl0000000
done :
now =pilEDS.rl6
rcall Writelisplay

Figure 2:

Initialize blink to 0x00

Watch X
MName Value Type Location
rlé 0x00 '' Register R1& B
spilED Ox00 '' Register R39
SREG 0Ox02 '4' |I/0 Registe 0x003F [IO
M 4 » W “Watch 1 4 Watch 2 4 Watch 3 { Watch 4,
‘soutput to diéplay
Watch 4
MName Yalue Type Location
rla 0xFF "¥" Register ERl& -
SpilED 0x00 ''" |Register RS
SREG 0x535 'U' I/0 Begiste¢ 0x003F [IOD

g

M 4 » W “Watch1 4 Watch 2 4 Watch 3 4 Watch 4 ,

Ssoutput to displav

End of BlinkIT blink is complement to OxFF,

T is set.



